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Q.1
Ans

Comprehension:

Refer to the below poem and answer the questions.

Now we will count to twelve
and we will all keep still.

For once on the face of the Earth
let's not speak in any language,
let’s stop for one second,

and not move our arms so much.

It would be an exotic moment
without rush, without engines,
we would all be together
in a sudden strangeness.

Fishermen in the cold sea
would not harm whales

and the man gathering salt
would look at his hurt hands.

Those who prepare green wars,
wars with gas, wars with fire,
victory with no survivors,

would put on clean clothes

and walk about with their
brothers

in the shade, doing nothing.

What | want should not be
confused

with total inactivity.

Life is what it is about;

I want no truck with death.

If we were not so single-minded
about keeping our lives moving,
and for once could do nothing,
perhaps a huge silence

might interrupt this sadness

of never understanding ourselves
and of threatening ourselves with
death.

Perhaps the Earth can teach us
as when everything seems dead
and later proves to be alive.

Now I'll count up to twelve
and you keep quiet and | will go.

SubQuestion No : 1
Identify the suitable title for the poem.

« 1. Keeping Quiet
& 2. Fishermen and the cold sea

X 3. Understanding ourselves

& 4. Fishermen

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

630680442627
6306801727971
6306801727970
6306801727968
6306801727969
Not Answered




Q.2

Ans

Comprehension:

Refer to the below poem and answer the questions.
Now we will count to twelve
and we will all keep still.

For once on the face of the Earth
let's not speak in any language,
let’s stop for one second,

and not move our arms so much.

It would be an exotic moment
without rush, without engines,
we would all be together
in a sudden strangeness.

Fishermen in the cold sea
would not harm whales

and the man gathering salt
would look at his hurt hands.

Those who prepare green wars,
wars with gas, wars with fire,
victory with no survivors,

would put on clean clothes

and walk about with their
brothers

in the shade, doing nothing.

What | want should not be
confused

with total inactivity.

Life is what it is about;

I want no truck with death.

If we were not so single-minded
about keeping our lives moving,
and for once could do nothing,
perhaps a huge silence

might interrupt this sadness

of never understanding ourselves
and of threatening ourselves with
death.

Perhaps the Earth can teach us
as when everything seems dead
and later proves to be alive.

Now I'll count up to twelve
and you keep quiet and | will go.

SubQuestion No : 2

Select the most appropriate meaning of the given word below.

Interrupt
#< 1. the act or skill of giving a speech at a public event
4 2. to stop a person from speaking for a short period by something you say or do
#< 3. being the only existing one of its type
5 4. the possibility of doing something

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :
Chosen Option :

630680442630
6306801727980
6306801727982
6306801727983
6306801727981
Answered

2




Q.3
Ans

Comprehension:

Refer to the below poem and answer the questions.
Now we will count to twelve
and we will all keep still.

For once on the face of the Earth
let’s not speak in any language,
let’s stop for one second,

and not move our arms so much.

It would be an exotic moment
without rush, without engines,
we would all be together
in a sudden strangeness.

Fishermen in the cold sea
would not harm whales

and the man gathering salt
would look at his hurt hands.

Those who prepare green wars,
wars with gas, wars with fire,
victory with no survivors,

would put on clean clothes

and walk about with their
brothers

in the shade, doing nothing.

What | want should not be
confused

with total inactivity.

Life is what it is about;

I want no truck with death.

If we were not so single-minded
about keeping our lives moving,
and for once could do nothing,
perhaps a huge silence

might interrupt this sadness

of never understanding ourselves
and of threatening ourselves with
death.

Perhaps the Earth can teach us
as when everything seems dead
and later proves to be alive.

Now I'll count up to twelve
and you keep quiet and | will go.

SubQuestion No : 3
Identify the central theme of the poem.

F

All disasters are created by man and rash actions are one of them.

~< 2.

It advocates the death and total inactivity. It is the nltimate reality of life and cannot be fought upon.

3.

The narrator wants to show that under apparent stillness, life can also exist. Nature remains at work at all times and

keeps the earth alive.

< 4.

The narrator is sick and tired of everyday problems and is unable to understand what life all is about.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680442628
6306801727974
6306801727973
6306801727975
6306801727972
Not Answered




Comprehension:

Refer to the below poem and answer the questions.

Now we will count to twelve
and we will all keep still.

For once on the face of the Earth
let's not speak in any language,
let’s stop for one second,

and not move our arms so much.

It would be an exotic moment
without rush, without engines,
we would all be together
in a sudden strangeness.

Fishermen in the cold sea
would not harm whales

and the man gathering salt
would look at his hurt hands.

Those who prepare green wars,
wars with gas, wars with fire,
victory with no survivors,

would put on clean clothes

and walk about with their
brothers

in the shade, doing nothing.

What | want should not be
confused

with total inactivity.

Life is what it is about;

I want no truck with death.

If we were not so single-minded
about keeping our lives moving,
and for once could do nothing,
perhaps a huge silence

might interrupt this sadness

of never understanding ourselves
and of threatening ourselves with
death.

Perhaps the Earth can teach us
as when everything seems dead
and later proves to be alive.

Now I'll count up to twelve
and you keep quiet and | will go.

SubQuestion No : 4

Q4 Select the most appropriate SYNONYM of the given word below.

Ans

Exotic

X 1. familiar

X 2. upromantic
« 3. Marvellous
X 4. nonexotic

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680442629
6306801727977
6306801727979
6306801727978
6306801727976
Answered

3




Q.5

Read the below passage:

Growth always occurs through a sequential series of stages. There is an organic process to growth. When we look at
children growing up, we can see this process at work: the child first learns to crawl, then to stand and walk and then
finally to run. The same is true in the natural world. The soil must first be tilled and then the seed must be sown. Next, it

must be nurtured with enough water and sunlight and only then will it grow into trees laden with ripe fruits.
Which one of the following is the CORRECT logical inference based on the information in the above passage?
I) The children are the worst examples of an organic process to growth.
I Everything in this world goes through an organic process of growth and that is how it is meant to be.

III)  The natural world does not need to follow the old and traditional method of growth.

Ans 1. T only
X2 I 11, & III only
X 3. Ionly
X 4. 1 & III only
Question ID : 630680442632
Option 1 ID : 6306801727990
Option 2 ID : 6306801727989
Option 3 ID : 6306801727991
Option 4 ID : 6306801727988
Status : Answered
Chosen Option : 4
Q.6 Read the below passage:
Many of us believe that ‘small’ means ‘insignificant’. We believe that small actions and
choices do not have much impact on our lives. We think that it is only the big things,
the big actions and the big decisions that really count. But when you look at the lives
of all great people, you will see that they built their character through small decisions,
small choices, and small actions that they performed every day. They transformed
their lives through step-by-step or day-by-day approach. They nurtured and nourished
their good habits and chipped away their bad habits, one by one. It was their small
day-to-day decisions that added up to make tremendous difference in the long run.
Indeed, in matters of personal growth and character building, there is no such thing as
an overnight success.
Which of the following is the CORRECT logical inference based on the information in
the above passage?
1) To achieve personal growth and development one cannot follow the small actions
and choices method. The world is changing very fast, one needs to keep up with the
pace.
11) All the good habits have taken time to be developed and have been worked upon on
a daily basis in order to succeed in life.
11l) All great people had developed and succeeded in their lives by taking small and
day to day decisions.
Ans X 1. 1 & Il only
« 2. II & III only
X 3. III & I only
X 4 I 11, & III only
Question ID : 630680442631
Option 1 ID : 6306801727986
Option 2 ID : 6306801727987
Option 3 ID : 6306801727985
Option 4 ID : 6306801727984
Status : Answered
Chosen Option : 4




Comprehension:

Refer to the below passage and answer the questions.

Having a healthy lifestyle is all about choosing to live your life in the healthiest way possible.
There are a few things you have to do to start living your life in this way, i.e., the healthy way.
This means doing some amount of exercise daily, such as jogging, yoga, playing sports, etc.
Adding to this, you must also have a balanced and nutritional diet with all the food groups. It
would be best if you were taking the right amount of proteins, carbohydrates, vitamins,
minerals, and fats to help you have a proper diet. Grouped with these two essential aspects
(diet and exercise), a healthy person also maintains the same sleep cycle, which should
consist of around 7-8 hours of sleep. However, we must remember that a healthy lifestyle not
only refers to our physical and mental health. Maintaining a balanced diet, exercising daily,
and sleeping well are essential parts of a healthy lifestyle. But feeling happy is also a big part
of a healthy lifestyle. To enable happiness, thinking positively is a must. When a person does
not feel happy or good about themselves, they are not entirely healthy.

The benefits of a healthy lifestyle are manifold: living a healthy life allows you to live longer,
which means that you get to spend more time with your family. Exercising daily will enable
you to release endorphins and helps you feel happier. Regular exercise also improves the
health of your skin and hair, bettering your appearance as well. Healthy lifestyles also
primarily reduce your risk of life-threatening diseases such as cancer, diabetes, etc. and also
reduce your susceptibility to cardiac arrests.

Overall, living your life in a healthy way only has benefits, and that's why it is recommended
that you do everything you can to have a healthy lifestyle. So, eat three nutritional meals a
day, avoid unhealthy junk food, go for a run or jog in the morning, get your full 8 hours of
sleep, and avoid bad habits like drugs, alcohol, and smoking. A healthy lifestyle is the best
thing that you can do to your body, and you will be thanking yourself for following a healthy
lifestyle in the later years of your life.

SubQuestion No : 7

Q7 Select the most appropriate meaning of the given word below.

Manifold

Ans X 1.a collection or mass, especially of something that cannot be counted
#5 2. a number that is used to mark a particular example of something
#< 3. smaller in size or amount than is considered necessary or is hoped for

«® 4. many and of several different types

Question ID : 630680442625
Option 1 ID : 6306801727965
Option 2 ID : 6306801727966
Option 3 ID : 6306801727964
Option 4 ID : 6306801727967
Status : Answered
Chosen Option : 4




Q.8

Ans

Comprehension:

Refer to the below passage and answer the questions.

Having a healthy lifestyle is all about choosing to live your life in the healthiest way possible.
There are a few things you have to do to start living your life in this way, i.e., the healthy way.
This means doing some amount of exercise daily, such as jogging, yoga, playing sports, etc.
Adding to this, you must also have a balanced and nutritional diet with all the food groups. It
would be best if you were taking the right amount of proteins, carbohydrates, vitamins,
minerals, and fats to help you have a proper diet. Grouped with these two essential aspects
(diet and exercise), a healthy person also maintains the same sleep cycle, which should
consist of around 7-8 hours of sleep. However, we must remember that a healthy lifestyle not
only refers to our physical and mental health. Maintaining a balanced diet, exercising daily,
and sleeping well are essential parts of a healthy lifestyle. But feeling happy is also a big part
of a healthy lifestyle. To enable happiness, thinking positively is a must. When a person does
not feel happy or good about themselves, they are not entirely healthy.

The benefits of a healthy lifestyle are manifold: living a healthy life allows you to live longer,
which means that you get to spend more time with your family. Exercising daily will enable
you to release endorphins and helps you feel happier. Regular exercise also improves the
health of your skin and hair, bettering your appearance as well. Healthy lifestyles also
primarily reduce your risk of life-threatening diseases such as cancer, diabetes, etc. and also
reduce your susceptibility to cardiac arrests.

Overall, living your life in a healthy way only has benefits, and that's why it is recommended
that you do everything you can to have a healthy lifestyle. So, eat three nutritional meals a
day, avoid unhealthy junk food, go for a run or jog in the morning, get your full 8 hours of
sleep, and avoid bad habits like drugs, alcohol, and smoking. A healthy lifestyle is the best
thing that you can do to your body, and you will be thanking yourself for following a healthy
lifestyle in the later years of your life.

SubQuestion No : 8

Select the most appropriate SYNONYM of the given word below.

Susceptibility
X 1. Immunity

X 2. Protection
X 3. Security

« 4 Vulnerability

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 1D :
Status :

Chosen Option :

630680442624
6306801727960
6306801727961
6306801727963
6306801727962
Answered

4




Comprehension:

Refer to the below passage and answer the questions.

Having a healthy lifestyle is all about choosing to live your life in the healthiest way possible.
There are a few things you have to do to start living your life in this way, i.e., the healthy way.
This means doing some amount of exercise daily, such as jogging, yoga, playing sports, etc.
Adding to this, you must also have a balanced and nutritional diet with all the food groups. It
would be best if you were taking the right amount of proteins, carbohydrates, vitamins,
minerals, and fats to help you have a proper diet. Grouped with these two essential aspects
(diet and exercise), a healthy person also maintains the same sleep cycle, which should
consist of around 7-8 hours of sleep. However, we must remember that a healthy lifestyle not
only refers to our physical and mental health. Maintaining a balanced diet, exercising daily,
and sleeping well are essential parts of a healthy lifestyle. But feeling happy is also a big part
of a healthy lifestyle. To enable happiness, thinking positively is a must. When a person does
not feel happy or good about themselves, they are not entirely healthy.

The benefits of a healthy lifestyle are manifold: living a healthy life allows you to live longer,
which means that you get to spend more time with your family. Exercising daily will enable
you to release endorphins and helps you feel happier. Regular exercise also improves the
health of your skin and hair, bettering your appearance as well. Healthy lifestyles also
primarily reduce your risk of life-threatening diseases such as cancer, diabetes, etc. and also
reduce your susceptibility to cardiac arrests.

Overall, living your life in a healthy way only has benefits, and that's why it is recommended
that you do everything you can to have a healthy lifestyle. So, eat three nutritional meals a
day, avoid unhealthy junk food, go for a run or jog in the morning, get your full 8 hours of
sleep, and avoid bad habits like drugs, alcohol, and smoking. A healthy lifestyle is the best
thing that you can do to your body, and you will be thanking yourself for following a healthy
lifestyle in the later years of your life.

SubQuestion No : 9

Q9 Tdentify the suitable title for the passage.
Ans X 1. Exercise and Lifestyle
X 2. Disadvantages of healthy lifestyle
« 3. Benefits of a healthy lifestyle
X 4. Junk food and healthy lifestyle

Question ID : 630680442622
Option 1 ID : 6306801727953
Option 2 ID : 6306801727955
Option 3 ID : 6306801727952
Option 4 ID : 6306801727954
Status : Answered
Chosen Option : 3




Comprehension:

Refer to the below passage and answer the questions.

Having a healthy lifestyle is all about choosing to live your life in the healthiest way possible.
There are a few things you have to do to start living your life in this way, i.e., the healthy way.
This means doing some amount of exercise daily, such as jogging, yoga, playing sports, etc.
Adding to this, you must also have a balanced and nutritional diet with all the food groups. It
would be best if you were taking the right amount of proteins, carbohydrates, vitamins,
minerals, and fats to help you have a proper diet. Grouped with these two essential aspects
(diet and exercise), a healthy person also maintains the same sleep cycle, which should
consist of around 7-8 hours of sleep. However, we must remember that a healthy lifestyle not
only refers to our physical and mental health. Maintaining a balanced diet, exercising daily,
and sleeping well are essential parts of a healthy lifestyle. But feeling happy is also a big part
of a healthy lifestyle. To enable happiness, thinking positively is a must. When a person does
not feel happy or good about themselves, they are not entirely healthy.

The benefits of a healthy lifestyle are manifold: living a healthy life allows you to live longer,
which means that you get to spend more time with your family. Exercising daily will enable
you to release endorphins and helps you feel happier. Regular exercise also improves the
health of your skin and hair, bettering your appearance as well. Healthy lifestyles also
primarily reduce your risk of life-threatening diseases such as cancer, diabetes, etc. and also
reduce your susceptibility to cardiac arrests.

Overall, living your life in a healthy way only has benefits, and that's why it is recommended
that you do everything you can to have a healthy lifestyle. So, eat three nutritional meals a
day, avoid unhealthy junk food, go for a run or jog in the morning, get your full 8 hours of
sleep, and avoid bad habits like drugs, alcohol, and smoking. A healthy lifestyle is the best
thing that you can do to your body, and you will be thanking yourself for following a healthy
lifestyle in the later years of your life.

SubQuestion No : 10

Q10 Tdentify the central theme of the passage.

Ans

< 1.

The benefits of a healthy lifestyle are not manifold: living a healthy life does not allow you to live longer, which means
that you do not get to spend more time with vour family.

o’ 2.
Living a healthy lifestyle is the best thing that once can do for themselves, and a healthy lifestyle has a lot of benefits.
X 3.
Exercising daily will enable you to release endorphins and helps you feel happier.
X 4.
Maintaining a balanced diet, exercising daily, and sleeping well are not essential parts of a healthy lifestyle.
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

630680442623
6306801727959
6306801727958
6306801727957
6306801727956
Answered

2




Comprehension:

‘RIS 969 69R 7R

Q0& A968 26a g

6962 F9IAT1 98 ATIR

il §eQ1 @ 62IRS IR I'(@FgdY)

SubQuestion No : 1

Q1 ‘@F’ 19 faSId6SRIS S8 §'6?
Ans . #1.49a
K 2.9¢
X 3.9
X 4.90@
Question ID : 630680442642
Option 1 ID : 6306801728023
Option 2 ID : 6306801728021
Option 3 ID : 6306801728020
Option 4 ID : 6306801728022
Status : Answered
Chosen Option : 1
Comprehension:
‘QW1S Q6 6Q@ el
QR 9o6d 26l I
6968 F1RIF91 Q@ RGN
g §e & 6QIRNS IR I”(Q@ijq)
SubQuestion No : 2
Q.2 QUeAUR FECI°FITER 2SI ‘e’ F19TR 212l 9°61?
Ans X' 1.999

2. Q3
X 360
X 4.6QIQ!

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680442639
6306801728008
6306801728010
6306801728011
6306801728009
Answered

2




Comprehension:

‘RIS 969 69R 7R

Q0& A968 26a g

6962 F9IRR1 9% AR

il §eQ1 @ 62IRS IR I'(@FgdY)

SubQuestion No : 3

Q3 F6gID 690 6195 ‘UeS” SINg §LIN?
Ans X 1.29q
X 2.291%
o 3.207
X 4. 9199
Question ID : 630680442641
Option 1 ID : 6306801728017
Option 2 ID : 6306801728018
Option 3 ID : 6306801728016
Option 4 ID : 6306801728019
Status : Not Answered
Chosen Option : ==
Comprehension:
‘QARS Q6 69@ FIed
QR 9a6d 26l I
6968 F1RIF91 Q@ RGN
g §e & 6QIRS IR I”(G.“:‘ijq)
SubQuestion No : 4
Q4 IR K69 64, Gl --mmm-mmv eI |
Ans X' 1. qlRIQ1
o 2. €1Yd
&K 3.y
&K 4. iy
Question ID : 630680442640
Option 1 ID : 6306801728014
Option 2 ID : 6306801728015
Option 3 ID : 6306801728012
Option 4 ID : 6306801728013
Status : Answered
Chosen Option : 2
Q5 9eq AT 98 aIR '8l 9981 5e?
Ans 1. Q6019 ARIQI AR AISEYS |
X 2. 26919 Q9! 298NS |
X 3. @15g 2°510¢ KR! 28R |
X 4. Q1919 Q1969 98<1 2AIS6NS |
Question ID : 630680442643
Option 1 ID : 6306801728024
Option 2 ID : 6306801728026
Option 3 ID : 6306801728025
Option 4 ID : 6306801728027
Status : Answered
Chosen Option : 4




Comprehension:

AIEY FIS1E RISGR FIRFITR, FIS1E RITGR AACNIR | 6968 RIFIH FITFR AFER AT TR
2915 669 99, AIGIY FIREA 9T FRUE ARG RS A9, 6868 FIB1E ALSY 9 RAIS /9,
@019 ATGUR 9 QQATR AR | 92 FIRQ A AGRAE §R 689 | R 621R AITR 2K
AFR60 ARG FARIG 626R V1T RIFIL AITSUQ Y Q6T TRS |

Ac10L F6969 IS FIIER YR AIRIHI, AV1AR, 2SI 6 AGAUT Y6249 9F RIB1L AT 9]
269 | GIG FI6R 9T gIR QIS YISTH ATEY G069 66T AR 2SG | ALY ABRIST F6R
6QEAIRS 64 66115 661G AAAER GIT FUI6R 66T 6615 YR 2RI°AI Y66 9T FIBIEL
196 6 61 A66F A6EF ARBYG 608 *RCLHE | 9 R (IZF 609 @IF 6 QTS 9, 69 GIF
a9el 6SIRULIF 691R FEFIG 629 | 6615 2RIV IS YFQ FITIA QIRIF AGEY Q€T
QUIIAN 98° QIS FIIER R19S FF 0 88 AIEeY Q6 gRIFE g9 | AADS AR1TFIR YLIR
@9 984, g el 691 69 FIfTgIEg IB1RE 6 Aa1de f69 | 6J65696R AIGR I8 2999
QISR D22, 60666967 ATCY 688 FBIS AR 6TR6E, 6I6TE6R FIGIL FIGF
AFRER 6ALCIEE QISE, §OF TG F08 ARG 6ALCES QI°']I FAZ, 62168 F60IR ARIAI
@391 256 |

SubQuestion No : 6
Q.6 QIQIY 99N "6l QUIENAIg?
Ans X' 1.9°9G
X 2. 41EeY
&K 3.l
o 4. 2191°8

Question ID : 630680442637
Option 1 ID : 6306801728006
Option 2 ID : 6306801728005
Option 3 ID : 6306801728004
Option 4 ID : 6306801728007
Status : Answered
Chosen Option : 4

Comprehension:

TGN GIE1E R19RR FIRFRS, FISID FIFRR AACNAR | 6068 FISIL FI9RA AFER ARSI T2
FRSIg 69% §9, FIFIHA KGR 1T FRAS FASIG AR X, 696 FGIA ATSY 9T Q/AIS /],
PI510 AITGUR JY AQUNTE K9 | §€ FIGQ AT A6QLL 99 629 | 9ARTT 62IR RITR AL
ARER MIREI FALIG 696R BIQI FIS10 ATGIR 9% R6T TRS |

619l F661969 RIE F1I6R gIR ARSI, ARSI, Sl B AGAUT Y694 92 GIB1L AT 9T
@69 | GIT FI6R YT 99R QIS AIFIE ITSY FORR 6418 2GS 29l | AELIE RIS F6R
694AIRS 62 6515 6515 AFIAER KT FUCH 65T 65115 YRR KA Y6QF G RITID
@199 6 6 J65F A6 AITBYG G107 FRCTRR | 9 g ¢ 69Q I FII6R QIS Y, 64 RIF
A9¢l 6RIGHRIE 691R @RI 629 | 65T 2RI°AI ¥Q YIPQ SITIR QIQIF AGEN 6Q4IaIR
QUINDIN 99° QUEI FIIER F19S §JF TRge F8 TG R6d gRIFE 99 | AFFR RR1UFIQ 921N
@9 964, €Ig 121 69 66l FIFgIElg GRS 6 Q1S 768 | 6IESEI6R QISR didl 299G
QIS6R A2, 6I686T6R AITGY 688 FSIS AT 62IRACE, 6A6F696R FITIA G19F
AARER 6JLCIEE RISE, §OF TGS F08 FARIG 6AACER QI°']I FAE, 627168 K60IR LRIAI
@361 256 |

SubQuestion No : 7
Q7 QU6 AFERLTR RAYD S19T 261 68IRAUE ?
Ans X 1.6R¢e9 2lad

X 2. Q919 ALFYQ 2ILTIRS!
X 3. AIRBYQ QUSIQE
o 4. Q1919 Q197 6 ALY

Question ID : 630680442634
Option 1 ID : 6306801727994
Option 2 ID : 6306801727992
Option 3 ID : 6306801727995
Option 4 ID : 6306801727993
Status : Answered
Chosen Option : 4




Comprehension:

AIEY FIS1D RISGR FIRFIRR, FIS1E FITGR AACNIR | 6968 RIIH FITFR AFER ATEN TR
2915 669 99, AIGIY FIREA 9F FRUE ARG RS A9, 6868 FIB1E ALSY 98 RIS /9,
@19 ATGUR 9 QQATR AR | 92 FIRQ AFY AGRAE §R 689 | R 621R AITR 2K
AFR6R ARG FARIG 626R V1T RIFIL AITSUQ Y Q6T TRQ |

ac10L F6963 RIS FIIER YR ARSI, AR1AK, 2SI 6 AGAUT Y6249 8R! RIB1L AT 9]
269 | GIG F1I6R 9T gIR QIS YISTR ATEY G069 66T AR 2SG | ALY ABRIST! F6R
6QYAIRS 64 66115 661G AAAER GIT FUIER 66T 6615 YR 2RI°AI Y66 9T FIBIEL
196 6 61 A66F A6EF ARGYG 608 FRCLHE | 9 R (IZF 609 @IF 6 QTS 9, 62 GIF
a9el 6dIRURIF 691R FEIG 629 1 6615 2IFI°YI IS YFQ FITIA QIRIF AGEY Q€T
QUITAN 98° QIS FIIER R19S FF 0 78 AIEeY Q69 gRIFE g9 | AADS AR1TFIR YLIR
@9 984, g el 691 691 FIfTgIEg IBI1AE 6 Aa1de f69 | 6J65696R AIGR I8 2999
QISR D22, 60666967 ATEY 688 FEIS AR 6TRI6E, 6I6TE6R FITIL FIST
AFRER 6DACI6E QISE, §OF AT F08 ARG 6ALCES QI°']I FAZ, 62168 F60IR ARIFI
@391 256 |

SubQuestion No : 8
Q.8 RIg1a AITeY & ¢ AIeR 2ISTSE &6 ?
Ans X' 1. QlQdl 9@l 9I9l FI9Q A7 A6RRE 99 689

X 2. 9196 921 QIS 9999 KAQIRS
o 3. 9106 98I RIS19 F1969 FIRFITA 6 ARFIge
X 4. 9196 92| Q1912 K199 §IE G4 SaQIae

Question ID : 630680442635
Option 1 ID : 6306801727997
Option 2 ID : 6306801727999
Option 3 ID : 6306801727998
Option 4 ID : 6306801727996
Status : Answered
Chosen Option : 1

Comprehension:

TGN GI1E R19RR FIRFRS, FISIDl FIFRS AACIAR | 6068 FISIL F19A QLR ARFIS T2
FASIg 69% §9, FITIHA KGR 1T FRAS FASIG AR X, 696 FGIA ATSY OF Q/AIS /],
PI510 AITGUR JY AQUNTE 89 | §¢ FIGQ AT A6QLL 99 629 | 9ARTT 62IR RITR AL
QARER MIREI FALIG 696R BIQl FIS10L ATGIR 9% R6T TRS |

A619L F661969 RIT F1I6R gIR ARSI, ARSI, 2SI B AGAUT Y694 99 GIB1L AT Y]
@69 | GIF FI6R YT 99R QIS GIFIE ITSY FORR 6418 2GS 29l | AELIL AIERISE! F6R
694AIRS 62 6515 6515 AFIAER KIT FAUCH 65T 65115 YRR KA YRS G RISID
@199 6 6 I65F A6 AITHYG G107 FRCTRR | 9 g ¢ 69Q I FII6R RUTS 24, 69 RIF
A9¢l 6RUGHRIE 691R @RI 629 | 65T 2RI°AI 99 YRR SITIR QIQIF AGEN 6Q4IaIR
QUINDIN 99° QUEI FIIER F19S §JF TRge §8 AT R6d gRIFE 99 | AFLR ARNAFIQ ILIR
@9 964, €1I§ 121 65 66l FIFgIEg GRS 6 Q1S 769 | 6IESEI6R QISR Qe 299G
RQIS6R A2, 668696R AITGY 688 FSIS AT 62IRACE, 6A6T696R FITIA G19T
AARER 6JLCIEE RISE, §oF TGS F08 FARIG 6AACES QI°']I FAE, 627168 K60IR LRIAI
@361 256 |

SubQuestion No : 9
Q9 @RIgIa AITeY faf 98 6LIRaANG?
Ans X' 1. QIBFIeRQ A4l 2I6RISE] GR<I FIGl

X 2. 99961 62IR KIFA ALY AIN6R UG KRS Gl
X 3. 26914 2RISR 23S glal
o 4. QI018 A1SG6R JIR 2RI, @144, 2SI 6 AGAUT F6Q4 GRQI FIQl

Question ID : 630680442636
Option 1 ID : 6306801728003
Option 2 ID : 6306801728002
Option 3 ID : 6306801728001
Option 4 ID : 6306801728000
Status : Answered
Chosen Option : 4




Q.10 QIEeY FITIQ QAUIER ?
Ans X' 1. Q1999

o 2. IR
X 3. 90189
X 4.2999 gi§a

Question ID

Option 11D :

Option 2 ID
Option 3 ID

Status

: 630680442644
6306801728028

: 6306801728030
: 6306801728029
Option 4 ID :

6306801728031

. Answered
Chosen Option :

1

Section : Part 1 General Knowledge and Current Affairs

Q.1 Which among following is NOT a correct statement regarding supreme court in India?

Ans X 1.

Maximum age limit to be a judge of supreme court is 65 years

X 2. Chief justice of India takes oath before the president

X 3. Chief justice of India is appointed by the President of India

&4

The constitution has fixed the tenure of a judge of supreme court to be maximum five years

Question ID :

Option 1 1D

Status

630680442652

: 6306801728063
Option 21D :
Option 31D :
Option 4 ID :

6306801728061
6306801728060
6306801728062

: Answered
Chosen Option :

4

Q2 YWhat is the basic filtration unit of kidney in human beings?

Ans X 1. Alveoli

« 2. Nephron

X 3. Capillary tubes

X4 Villi

Question ID
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1 630680442653

6306801728065
6306801728067
6306801728064
6306801728066
Not Answered




Q3 How many gold medals India won in recently concluded Asian games 20232

Ans X 1. 22
2 28
X3 42
X 4 107
Question ID : 630680442645
Option 1 ID : 6306801728035
Option 2 ID : 6306801728034
Option 3 ID : 6306801728033
Option 4 ID : 6306801728032
Status : Answered
Chosen Option : 1
Q.4  “Saansad Adarsh Gram Yojana (SAGY)” was started in which of the following vear?
Ans 12014
X2 2013
X3 2019
X4 2016
Question ID : 630680442654
Option 1 ID : 6306801728070
Option 2 ID : 6306801728071
Option 3 ID : 6306801728068
Option 4 ID : 6306801728069
Status : Not Answered
Chosen Option : --
Q5 Tamui gold mines has been located in which of the following state of India?
Ans X 1. West Bengal
< 2. TJharkhand
« 3. Bihar
X 4. Karnataka
Question ID : 630680442651
Option 1 ID : 6306801728059
Option 2 ID : 6306801728056
Option 3 ID : 6306801728058
Option 4 ID : 6306801728057
Status : Not Answered

Chosen Option :




Q.6 Forwhich of the following reasons FICCI has been appointed recently by the Government of Odisha regarding millets?

Ans

# 1. To store millets in FCI Godowns
« 2. To promote milletsg Globally

x 3.

To celebrate the International Year of Millets (IYOM) in 2022

X 4. To Sale Millets product in every railway station of Odisha.

Question ID : 630680442647
Option 1 ID : 6306801728041
Option 2 ID : 6306801728040
Option 3 ID : 6306801728042
Option 4 ID : 6306801728043
Status : Answered
Chosen Option : 3
Q.7 Dora Bisoi and Chakra Bisoi were the leaders of which among the following rebellion in Odisha?
Ans 1. Ghumsur Rebellion
X 2. Bhuyan Rebellion
X 3. Munda Rebellion
X 4. Santhal Rebellion
Question ID : 630680442649
Option 1 ID : 6306801728049
Option 2 ID : 6306801728048
Option 3 ID : 6306801728050
Option 4 ID : 6306801728051
Status : Answered
Chosen Option : 1
Q8  Which among the following act is also known as *“the gagging act™?
Ans 1. Vernacular Press Act
X 2. Licensing Act of 1857
X 3. Registration Act of 1867
X 4. Doctrine of Lapse
Question ID : 630680442648
Option 1 ID : 6306801728044
Option 2 ID : 6306801728046
Option 3 ID : 6306801728047
Option 4 ID : 6306801728045
Status : Not Answered

Chosen Option :




Ans

X 1. Mediterranean
X 2. Tundra
« 3. Tropical wet and dry

X 4. Mid-latitude deserts

Q.9 As per Koeppen classification of climates, what type of climate does “Aw” represents?

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

: 630680442650
: 6306801728052
: 6306801728053
: 6306801728055
: 6306801728054
: Not Answered

Ans

X 12021
X 2. 2023
3. 2022
X 4. 2020

Q.10 The ‘International Drought Resilience Alliance (IDRA)® was started in which among the following vears?

Question ID : 630680442646

Option 11D :
Option 2D :
Option 3ID :
Option 4 ID :
Status :

Chosen Option :

6306801728038
6306801728036
6306801728037
6306801728039
Not Answered

Section : Part 1 Reasoning Ability

Q1

Ans

How is Rakesh's wife related to Rakesh's wife's son's grandmother?

X 1. Maternal grandmother
« 2. Daughter in law

& 3. Grandmother
X 4. Mother in law

Question ID
Option 11D :
Option 21D :
Option 3 ID
Option 4 ID :
Status

Chosen Option :

: 630680442659

6306801728091
6306801728088

: 6306801728090

6306801728089

: Answered

2




Q.2

If HAND becomes HBOD and FINGER becomes FIOHFR. What ELBOW will become in the same manner?

Ans X 1.EKCPW
o 2. EMCPW
X 3.ELCPW
X 4. EKBOW
Question ID : 630680442658
Option 1 ID : 6306801728086
Option 2 ID : 6306801728087
Option 3 ID : 6306801728084
Option 4 ID : 6306801728085
Status : Answered
Chosen Option : 2
Q3 What will come in the place of question mark to make it logically complete?
3.8,15.24,35, 7
Ans X' 1. 46
K2 49
3. 48
x4 47
Question ID : 630680442664
Option 1 ID : 6306801728108
Option 21D : 6306801728111
Option 3 ID : 6306801728110
Option 4 ID : 6306801728109
Status : Answered
Chosen Option : 3
Q4 IfP='+,Q="-,R="x"and S ="+, then what will be the value of the following expression.
SRIZQ9P6S3
Ans X177
« 2. 89
X3 85
X4 76
Question ID : 630680442663
Option 1 ID : 6306801728107
Option 2 ID : 6306801728104
Option 3 ID : 6306801728105
Option 4 ID : 6306801728106
Status : Answered
Chosen Option : 3




Q.5

Which of the following option will replace the question mark on the basis of Country and capitals.

Japan : Tokyo :: South Korea: ?

Ans X 1. Dhaka
X 2. Jakarta
« 3. Seoul
X 4. Pyongyang
Question ID : 630680442661
Option 1 ID : 6306801728098
Option 2 ID : 6306801728099
Option 3 ID : 6306801728097
Option 4 ID : 6306801728096
Status : Answered
Chosen Option : 3
Q6 Which will replace the question mark in the given series?
EAR, FAQ. GAP. HAO, 7
Ans X 1. NIA
2. TAN
X 3. NAI
X 4. INA
Question ID : 630680442657
Option 1 ID : 6306801728082
Option 2 ID : 6306801728080
Option 3 ID : 6306801728081
Option 4 ID : 6306801728083
Status : Answered
Chosen Option : 2
Q.7 5 persons namely Chirag, Vinod, Ravish, Kapil and Parth are sitting in a straight line but not necessarily in that order. If
Chirag is sitting on the extreme left side of the straight line, and Vinod is sitting immediately after him but before Kapil.
Then, who is sitting in the middle of the straight line if Parth is sitting just before Ravish from the right-hand side of the
straight line?
Ans X 1. Parth
« 2. Kapil
X 3. Vinod
X 4. Chirag
Question ID : 630680442655
Option 1 ID : 6306801728075
Option 2 ID : 6306801728074
Option 3 ID : 6306801728073
Option 4 ID : 6306801728072
Status : Answered
Chosen Option : 2




Q.8 Naresh ranks 7th from the top and 16th from the bottom in a group of students. How many students are there in the

group?
Ans X' 1. 73
X2 20
X3 21
4 22
Question ID : 630680442656
Option 1 ID : 6306801728076
Option 2 ID : 6306801728079
Option 3 ID : 6306801728078
Option 4 ID : 6306801728077
Status : Answered
Chosen Option : 4
Q.9 Read the given statement(s) and conclusions carefully. Assuming that the information given in the statements is true,
even if it appears to be at variance with commonly known facts, decide which of the given conclusions logically
follow(s) from the statement(s).
Statements:
All Complan are Horlicks
Some Boosts are Horlicks
Conclusions:
1. All Complan are boost.
2. Some boost are Complan.
Ans X 1. Both 1 and 2 follow
« 2. Neither 1 nor 2 follows
X 3. Only conclusion | follows
X 4. Only conclusion 2 follows
Question ID : 630680442660
Option 1 ID : 6306801728094
Option 2 ID : 6306801728095
Option 3 ID : 6306801728092
Option 4 ID : 6306801728093
Status : Answered
Chosen Option : 4




U BoRse oeall See crip caeen gn B9 (X) 2R BIE?

X

(X) m

(4)
Ans X 1. 2
s2 4
X3 3
X4 1
Question ID : 630680442662
Option 1 ID : 6306801728101
Option 2 ID : 6306801728103
Option 3 ID : 6306801728102
Option 4 ID : 6306801728100
Status : Marked For Review
Chosen Option : 3
Section : Part 1 Computer Literacy
Q1 What is the primary use of a Geographic Information System (GIS) application?
Ans X 1. Word processing and document editing
X 2. 3D modelling and animation
X 3. Video editing and special effects
« 4. Creating and analyzing maps and spatial data
Question ID : 630680442667
Option 1 ID : 6306801728120
Option 2 ID : 6306801728123
Option 3 ID : 6306801728122
Option 4 ID : 6306801728121
Status : Answered
Chosen Option : 4
Q.2 What does ICT stand for in the context of e-governance in government school education?
Ans X 1. International Cultural Training
« 2. Information and Communication Technology
X 3. Integrated Curriculum Teaching
X 4. Inclusive Community Testing
Question ID : 630680442665
Option 1 ID : 6306801728112
Option 2 ID : 6306801728113
Option 3 ID : 6306801728114
Option 4 ID : 6306801728115
Status : Answered
Chosen Option : 2




Q3 What is the clock speed of a CPU?

Ans X 1. The number of cores in the CPU

X 2. The physical size of the CPU
X 3. The amount of memory in the CPU

« 4. The speed at which the CPU executes instructions

\

Question ID :

Option 1 ID

630680442666

: 6306801728117
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801728116
6306801728119
6306801728118
Not Answered

Ans

« 1. Star topology
X 2. Mesh topology
X 3. Ring topology
X 4. Bus topology

Q.4  Which network topology is commonly used in LANs and connects all devices to a central hub?

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

630680442668
6306801728124

: 6306801728127
Option 31D :

6306801728125

: 6306801728126
Status :
Chosen Option :

Answered
3

Q5 1n Windows, what is the "Default Printer" setting used for?

Ans X 1. It determines the printer's paper size
X 2. It sets the printer's colour mode

X 3. It sets the printer's resolution
4.

It specifies the printer that is automatically selected for printing

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

630680442669

6306801728130
6306801728128
6306801728131
6306801728129

: Answered
Chosen Option :

4

Section : Part 1 Child Development Learning Curriculum and Assessment




Q1

Ans

Which educational method emphasizes learning through doing and real-life experiences?

& 1. Child-centered
X 2. Local-specific

X 3. Subject-centered

« 4. Experience-centered

Question ID :
Option 11D :

Option 2 ID

Option 3 ID :
Option 4 ID :
Status :

Chosen Option

630680442679
6306801728169
: 6306801728168
6306801728171
6306801728170
Answered

1

Q.2 Which Article of the Indian Constitution was amended to make education a fundamental right?

Ans

X 1. Article 32B
X 2. Article 19
X 3. Article 24
4 Article 21A

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680442678
6306801728167
6306801728164
6306801728166
6306801728165
Answered

4

Q.3  When considering the selection of learning activities, which prinpipi‘e emphasizes real-world relevance?

Ans

X 1. Abstract learning
X 2. Rote learning

X 3. Passive learning

« 4. Contextual learning

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

630680442682
6306801728183
6306801728182
6306801728180
6306801728181
Answered

4




Q.4 Which teaching strategy involves breaking down learning tasks into smaller, manageable steps for CWSN?

Ans

X 1. Mind-mapping
X 2. Role-playing
« 3. Task analysis

X 4. Brainstorming

Question ID : 630680442676
Option 1 1D : 6306801728158
Option 2 ID : 6306801728157
Option 3 ID : 6306801728159
Option 4 ID : 6306801728156
Status : Answered
Chosen Option : 2
QS5 Which factor plays a crucial role in determining a child's eve colour?
Ans 1. Parental genes
X 2. School curriculum
X 3. Nutrition
X 4. Early childhood friendships
Question ID : 630680442671
Option 11D : 6306801728138
Option 2 ID : 6306801728136
Option 3 ID : 6306801728137
Option 4 ID : 6306801728139
Status : Answered
Chosen Option : 1
Q.6 Which learning method involves a child copying the actions of their older sibling?
Ans X 1. Experience
X 2. Observation
X 3. Experimentation
+ 4. Imitation
Question ID : 630680442674
Option 1 ID : 6306801728148
Option 2 ID : 6306801728150
Option 3 ID : 6306801728151
Option 4 ID : 6306801728149
Status : Answered
Chosen Option : 2




Q.7 Which statement best captures the essence of learning as meaning-making?

Ans

« 1. I memorized the entire book

X 2. I can recite all the formulas and its applications
« 3. T understand why and how this works

X 4. I finished all the chapters

Question ID : 630680442673
Option 1 ID : 6306801728145
Option 2 ID : 6306801728146
Option 3 ID : 6306801728144
Option 4 ID : 6306801728147
Status : Answered
Chosen Option : 3
Q.8 Inwhich stage of Piaget’s cognitive development do children begin to think abstractly and hypothetically?
Ans X 1. Sensorimotor
X 2. Concrete Operational
« 3. Formal Operational
X 4. Preoperational
Question ID : 630680442670
Option 1 ID : 6306801728134
Option 2 ID : 6306801728135
Option 3 ID : 6306801728133
Option 4 ID : 6306801728132
Status : Answered
Chosen Option : 2
Q.9 Which learning style prefers using images, maps, and diagrams to understand and remember information?
Ans 1. Visual learners
X 2. Solitary learners
X 3. Auditory learners
X 4. Kinesthetic learners
Question ID : 630680442675
Option 1 ID : 6306801728154
Option 2 ID : 6306801728152
Option 3 ID : 6306801728153
Option 4 ID : 6306801728155
Status : Answered

Chosen Option :

1




Q10 Tp the context of NCF 2005, how should assessments for learning be?

Ans

& 2. Biannual with no feedback

X 3. Based solely on end-of-term exams

X 4. Only based on written tests

« 1. Continuous and comprehensive

Question ID : 630680442681
Option 1 ID : 6306801728176
Option 2 ID : 6306801728179
Option 3 ID : 6306801728177
Option 4 ID : 6306801728178
Status : Answered
Chosen Option : 1
QM Ty an activity-based classroom, what role does a teacher primarily assume?
Ans 1. Facilitator
X 2. Passive observer
X 3. Dictator
X 4. Sole information provider
Question ID : 630680442683
Option 1 ID : 6306801728186
Option 2 ID : 6306801728185
Option 3 ID : 6306801728187
Option 4 ID : 6306801728184
Status : Answered
Chosen Option : 1
Q12 Which Indian campaign was launched to address the gender gap in school education?
Ans % 1. Beti Bachao, Beti Padhao
X 2. Mid-Day Meal Scheme
« 3. Ladli Behna Yojna
X 4. Sanjeevni scheme
Question ID : 630680442677
Option 1 ID : 6306801728163
Option 2 ID : 6306801728162
Option 3 ID : 6306801728160
Option 4 ID : 6306801728161
Status : Answered

Chosen Option :

1




Q.13 Which of the following is a key characteristic of activity-based learning?

Ans X 1. Rote learning

« 2. Engaging multiple senses
X 3. Focus on standardized tests
X 4. Teacher-centered instruction

Question ID : 630680442684
Option 1 ID : 6306801728188
Option 2 ID : 6306801728191
Option 3 ID : 6306801728189
Option 4 ID : 6306801728190
Status : Answered
Chosen Option : 2
Q.14 Which environment is known to influence a child's self-esteem and self-worth through comparison and competition?
Ans 1. Peer-group
X 2. Home
X 3. Religious place
X 4. School
Question ID : 630680442672
Option 1 ID : 6306801728143
Option 2 ID : 6306801728141
Option 3 ID : 6306801728142
Option 4 ID : 6306801728140
Status : Answered
Chosen Option : 1
Q15 In which educational system is the concept of Core Curriculum often found?
Ans X 1. Informal tutoring
X 2. Vocational training
X 3. Preschool
« 4. College
Question ID : 630680442680
Option 1 ID : 6306801728172
Option 2 ID : 6306801728174
Option 3 ID : 6306801728173
Option 4 ID : 6306801728175
Status : Answered
Chosen Option : 3

Section : Part Il Subject Contents




Q.1

‘Gl QUFYILAR 6REIF §9?

Ans X' 1. 5gl08 Q918
X 2.969g a3
o 3. 65191912l QI
X 4. PRI 6C1EF 691G
Question ID : 630680442697
Option 1 ID : 6306801728232
Option 2 ID : 6306801728235
Option 3 ID : 6306801728234
Option 4 ID : 6306801728233
Status : Not Answered
Chosen Option : ==
Comprehension:
68419199169 FGAI6S FlIG 651960 JBdIRe 28 | FlIe! 696% AFTs! %_-:2@., CleLem daladlles
QILI0IQ A diR AIFES ? AR N AANER s F9 B QIR 6JQ ALFNEER PRI
698 dQLIE6R QY &8 696099 2lg PRIL g6% | FISIR S8l ASITR QLT FRIgS @66@1 @[ERQR
| FIGIR AF6Q IBIGR Q16 93¢ @ deigie 686699 JIRUIER CIT ARG FUIRAIER K1 |
AFERET AINAFER JIR QAR G |
SubQuestion No : 2
Q.2 g9: ‘@ler 609 22 geIsl Q2 ?
Ans X 1.QIQ@
X 2.949
< 3.29g9
o 4. QEQYQ
Question ID : 630680442688
Option 1 ID : 6306801728200
Option 2 ID : 6306801728201
Option 3 ID : 6306801728203
Option 4 ID : 6306801728202
Status : Answered
Chosen Option : 4
Comprehension:
68l6119gI6a FFLI6S FlIG 68196a godiRe 28 | FIel 6461 AFJG! ga@l, CleLem daladlles
QILI0IQ 9AA din AIR6S ? AR I8 AANER fIeia F981 B QUERE 69R AACNE6R PRAAS
698 ARFIE6R QY &8 696099 2l PRAL EGQV | ClIFIR FR ASIFR QUK FRUFR @6@@ [ER
| FlISIQ IQ6Q ABIFA 716, 99G 6 Jelgig 606599 IRAIER CIF ARG| FAULIRAIER F1E |
ALERET ANAFER JIR QAR G |
SubQuestion No : 3
Q.3 gq: dgeI9°ea 699 2Aegl 921 90I69 3610 SUIIRR ?
Ans 2 1 cdaQledl
X 2. 496991 < 2egl
X 3. Fedla aegl
X 4. 9894l
Question ID : 630680442686
Option 1 ID : 6306801728195
Option 2 ID : 6306801728192
Option 3 ID : 6306801728193
Option 4 ID : 6306801728194
Status : Answered
Chosen Option : 1




Comprehension:

65819199169 Sl €lIg 691969 JEAURS g2 | FISI 6969 ATTGI 2T, G626 AR
QIlolg gE8I iR AIR6S ? 43199 S8 AAR6Q FISIR §iFl 8 QU6 69 ARG FRAIAR
69T ARCIE68 ARY GF 696699 g PRYS 962 | FIGIR FRl AT QIS galga A6 a6a
| FIGIR IF6R ABIFR G115, FAG B ARG 626097 A6 FIE] ARG FAURAER K1 |

UP6RAT ASRIRER JIR Q@ Q2 |

SubQuestion No : 4
Q4 g9g: 9819a QUYD 9 RAIKXER FULIR 6T AEE?
Ans X' 1 Q90IeQ

o 2. €IGI°eQ
X 3.929101
X 4. QIR-924189

Question ID : 630680442687
Option 1 ID : 6306801728196
Option 2 ID : 6306801728197
Option 3 ID : 6306801728199
Option 4 ID : 6306801728198
Status : Answered
Chosen Option : 2
Q.5 ‘@aq’ §I8 fAQ 9087?
Ans 7 1.Q+ 299
X 2.62+29
X 3.6+
K4+
Question ID : 630680442694
Option 1 ID : 6306801728223
Option 2 ID : 6306801728221
Option 3 ID : 6306801728222
Option 4 ID : 6306801728220
Status : Answered
Chosen Option : 2
Q.6 ‘@19e 8’ QI9Y RILIQ QERl ?
Ans X' 1. QRIKIRI QK
X 2.98 @64l 9F
o 3. AGPRIA 66162
X 4. 2R19 69129 69198
Question ID : 630680442698
Option 1 ID : 6306801728237
Option 2 ID : 6306801728239
Option 3 ID : 6306801728238
Option 4 ID : 6306801728236
Status : Answered

Chosen Option :

1




Q7 ‘@98’ g S6519616Q RISl A6M 624 -
Ans X' 1.29Q%

X 2.6 Q9%
X 3.29%
o 4. Q9%
Question ID : 630680442693
Option 1 ID : 6306801728217
Option 2 ID : 6306801728219
Option 3 ID : 6306801728218
Option 4 ID : 6306801728216
Status : Answered
Chosen Option : 4
Q.8 grlew AQ &9 QA G ARIRNINE §& AF°G FSIRS] aie 2gQle a%em ?
Ans 7 1. OPQIQ 67ILR 691G
X 2. 651T012 Q1913
X 3.99 @68l oF
X 4.969¢ q1918
Question ID : 630680442696
Option 1 ID : 6306801728230
Option 2 ID : 6306801728228
Option 3 ID : 6306801728229
Option 4 ID : 6306801728231
Status : Answered
Chosen Option : 4
Comprehension:
“ 9a dg98 99 QLI
QY cIgelem e AN
Q1L Il 698 I1E QIR
Qwl d@l 969 6L6m QUw Alxl I
RECIT AGUS 97 YR e G-
SubQuestion No : 9
Q9 g9g: gIs1e 99 Faqcile 69 a'61?
Ans 71,9919
X 2,298
< 3. galeq
X 4.9
Question ID : 630680442692
Option 1 ID : 6306801728213
Option 2 ID : 6306801728215
Option 3 ID : 6306801728214
Option 4 ID : 6306801728212
Status : Answered
Chosen Option : 1




Comprehension:

“ 9 Jg9l8 99¢ QQln

QUFY FIgel6M 9@ Rl |

QIS gml 69 FIS1R QRIS

QR IRl 968 626M Q1@ A 7
REQIT AQRIE A Y9I REQ G-

SubQuestion No : 10

Q.10 gg: Ageldlg AGIa SELIN FINE '8 2

Ans X' 1697168 dKIE Q16 ASREL FQE6M
&K 2. 6496 [ 2lem
X 3.64716% 641619 Q263 QUG 68R F2l6m
o 4. 640160 4719°q IR QUER 6952lem
Question ID : 630680442690
Option 1 ID : 6306801728204
Option 2 ID : 6306801728207
Option 3 ID : 6306801728205
Option 4 ID : 6306801728206
Status : Answered
Chosen Option : 4
Comprehension:
“ 061 Q96 99 @I
QY FIglelem e AN
Q1L Il 69E IS QIR
Al dwl 969 6L6m Qe dixu "
AECIT AGUS 97 IR @R G-
SubQuestion No : 11
Q.11 gg: QIal 6 dRlg 96 gLIRE ?
Ans X' 1. QlEIQl RlQ
X 2. ¢1Ra 6 Sl
X 3.99
o 4. Qlw diQl
Question ID : 630680442691
Option 1 ID : 6306801728210
Option 2 ID : 6306801728209
Option 3 ID : 6306801728208
Option 4 ID : 6306801728211
Status : Answered
Chosen Option : 4
Q.12 «CIQEr 69 689 deug QUETIQ SAUAIRE ?
Ans .21 24
X 2.4
X 3.264
X 428
Question ID : 630680442695
Option 1 ID : 6306801728225
Option 2 ID : 6306801728226
Option 3 ID : 6306801728224
Option 4 ID : 6306801728227
Status : Answered

Chosen Option :

1




Q.13 Choose the option for the given blank that appropriately uses punctuation.

Ans

He had a rarely entered.
#< 1. studio which, |

5 2. studio which |
X 3. studio which I,
” 4. studio, which |

Question ID : 630680442711
Option 1 ID : 6306801728280
Option 2 ID : 6306801728282
Option 3 ID : 6306801728281
Option 4 ID : 6306801728283
Status : Answered
Chosen Option : 4
Comprehension:
Read the following poem and answer the questions given below.
A Bird, came down the Walk
He did not know | saw
He bit an Angle Worm in halves
And ate the fellow, raw,
And then, he drank a Dew
From a convenient Grass
And then hopped sidewise to the Wall
To let a Beetle pass
He glanced with rapid eyes,
That hurried all abroad
They looked like frightened Beads, | thought,
He stirred his Velvet Head
Like one in danger, Cautious,
| offered him a Crumb,
And he unrolled his feathers,
And rowed him softer Home
SubQuestion No : 14
Q.14 Which of the following words means the same as the word ‘stirred’ used in the poem?
Ans X 1. Stayed
¥ 2. Wiggled
X 3. Subdued
X 4. Soothed
Question ID : 630680442702
Option 1 ID : 6306801728251
Option 2 ID : 6306801728248
Option 3 ID : 6306801728250
Option 4 ID : 6306801728249
Status : Not Answered

Chosen Option :




Comprehension:
Read the following poem and answer the questions given below.

A Bird, came down the Walk
He did not know | saw

He bit an Angle Worm in halves
And ate the fellow, raw,

And then, he drank a Dew

From a convenient Grass

And then hopped sidewise to the Wall
To let a Beetle pass

He glanced with rapid eyes,

That hurried all abroad

They looked like frightened Beads, | thought,
He stirred his Velvet Head

Like one in danger, Cautious,
| offered him a Crumb,

And he unrolled his feathers,
And rowed him softer Home

SubQuestion No : 15
Q.15 From the first two lines it can be inferred that
Ans X 1.the bird was the speaker’s neighbour

& 2. the speaker likes to spy on birds
75 3. the bird and the speaker were good friends

«” 4. the bird was unaware of human presence around

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680442700
6306801728240
6306801728243
6306801728242
6306801728241
Answered

4




Comprehension:
Read the following poem and answer the questions given below.

A Bird, came down the Walk
He did not know | saw

He bit an Angle Worm in halves
And ate the fellow, raw,

And then, he drank a Dew

From a convenient Grass

And then hopped sidewise to the Wall
To let a Beetle pass

He glanced with rapid eyes,

That hurried all abroad

They looked like frightened Beads, | thought,
He stirred his Velvet Head

Like one in danger, Cautious,
| offered him a Crumb,

And he unrolled his feathers,
And rowed him softer Home

SubQuestion No : 16

Q.16 The poet has compared the eyes of the bird with

Ans

X 1. worm
o” 2. beads
#< 3. crumb
X 4. beetle

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680442701
6306801728247
6306801728246
6306801728245
6306801728244
Answered

2




Comprehension:

Read the following passage and answer the questions given below.

The India-UK FTA pact will be the most comprehensive trade agreement signed by India. Of
the 26 chapters, in-principle agreement or broad consensus has been reached on 24
chapters.

Areas that await final agreement include the rules of origin, where product-specific rules,
value addition, change in the chapter heading, and certification are being discussed, per
reporting in The Economic Times.

India does not want the UK to be used to route goods to India as that inflates its import bills;
the country’s trade deficit hit US$263 billion in FY 2022-23, up from US$191 billion in FY
2021-22.

On its part, UK negotiators want a more streamlined Customs bureaucracy.

Under intellectual property, chapter considerations pending final consensus may be with
regard to 37 changes demanded by the UK'’s life sciences and biotech sectors. India’s
intellectual property rights are also being discussed.

India-UK bilateral trade increased to US$20.36 billion in 2022-23 from US$17.5 billion in
2021-22.

SubQuestion No : 17

Q.17 Which of the following words means the same as the word ‘deficit’ used in the
passage?

Ans  # 1. Scarcity
< 2. Opulence
X 3. Surfeit
& 4. Surplus

Question ID : 630680442706
Option 1 ID : 6306801728260
Option 2 ID : 6306801728262
Option 3 ID : 6306801728263
Option 4 ID : 6306801728261
Status : Answered
Chosen Option : 1

Comprehension:
Read the following passage and answer the questions given below.

The India-UK FTA pact will be the most comprehensive trade agreement signed by India. Of
the 26 chapters, in-principle agreement or broad consensus has been reached on 24
chapters.

Areas that await final agreement include the rules of origin, where product-specific rules,
value addition, change in the chapter heading, and certification are being discussed, per
reporting in The Economic Times.

India does not want the UK to be used to route goods to India as that inflates its import bills;
the country’s trade deficit hit US$263 billion in FY 2022-23, up from US$191 billion in FY
2021-22.

On its part, UK negotiators want a more streamlined Customs bureaucracy.

Under intellectual property, chapter considerations pending final consensus may be with
regard to 37 changes demanded by the UK'’s life sciences and biotech sectors. India’s
intellectual property rights are also being discussed.

India-UK bilateral trade increased to US$20.36 billion in 2022-23 from US$17.5 billion in
2021-22.

SubQuestion No : 18
Q.18 What is the writing style of the passage?
Ans 1. Factual

X 2. Persuasive
X 3. Descriptive
X 4. Narrative

Question ID : 630680442705
Option 1 ID : 6306801728258
Option 2 ID : 6306801728259
Option 3 ID : 6306801728256
Option 4 ID : 6306801728257
Status : Answered
Chosen Option : 4




Comprehension:
Read the following passage and answer the questions given below.

The India-UK FTA pact will be the most comprehensive trade agreement signed by India. Of
the 26 chapters, in-principle agreement or broad consensus has been reached on 24
chapters.

Areas that await final agreement include the rules of origin, where product-specific rules,
value addition, change in the chapter heading, and certification are being discussed, per
reporting in The Economic Times.

India does not want the UK to be used to route goods to India as that inflates its import bills;
the country’s trade deficit hit US$263 billion in FY 2022-23, up from US$191 billion in FY
2021-22.

On its part, UK negotiators want a more streamlined Customs bureaucracy.

Under intellectual property, chapter considerations pending final consensus may be with
regard to 37 changes demanded by the UK'’s life sciences and biotech sectors. India’s
intellectual property rights are also being discussed.

India-UK bilateral trade increased to US$20.36 billion in 2022-23 from US$17.5 billion in
2021-22.

SubQuestion No : 19

Q.19 Why India does not want the UK to be used to route goods to India?

Ans

” 1. As that inflates its import bills

#< 2. As that impacts the whole economy
#< 3. As that involves high cost

X 4. Asitis illegal

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680442704
6306801728253
6306801728255
6306801728254
6306801728252
Answered

1

Q.20 Choose the option for the given blank that appropriately uses punctuation.

Ans

I have given you so many options.
«” 1. However, don’t

pick any.

< 2. However, dont
< 3. However! don’t
X 4. However don’t

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680442712
6306801728286
6306801728284
6306801728285
6306801728287
Answered

1




Q.21 A sentence has been given with a blank to be filled with an appropriate option. Choose

the correct alternative.

You stopped suddenly whenyou __ that tree.
Ans X 1.seeing
o” 2. saw
< 3.seen
X 4.see
Question ID : 630680442707
Option 1 ID : 6306801728267
Option 2 ID : 6306801728265
Option 3 ID : 6306801728266
Option 4 ID : 6306801728264
Status : Answered
Chosen Option : 2
Q.22 A sentence has been given with a blank to be filled with an appropriate option. Choose
the correct alternative.
His voice is rich, and mellow without being powerful.
Ans X 1.the
&K 2.an
X 3.a
«” 4. No article
Question ID : 630680442709
Option 1 ID : 6306801728273
Option 2 ID : 6306801728275
Option 3 ID : 6306801728274
Option 4 ID : 6306801728272
Status : Answered
Chosen Option : 1
Q.23 A sentence has been given with a blank to be filled with an appropriate option. Choose
the correct alternative.
Betsey gave my mother gruel and tea, and comforted her assurance of better
days__ all
Ans X 1.by, on
< 2. off, of
« 3. with, for
X 4. from, to
Question ID : 630680442710
Option 1 ID : 6306801728276
Option 2 ID : 6306801728278
Option 3 ID : 6306801728277
Option 4 ID : 6306801728279
Status : Answered
Chosen Option : 3




Q.24 A sentence has been given with a blank to be filled with an appropriate option. Choose

the correct alternative.

I am not leaving this place Rajveer shows up.

Ans X 1.since
&< 2.s0
" 3. until
X 4. as late as
Question ID : 630680442708
Option 1 ID : 6306801728269
Option 2 ID : 6306801728271
Option 3 ID : 6306801728268
Option 4 ID : 6306801728270
Status : Answered
Chosen Option : 3
Q.25 Which of the following statements is correct regarding king Kharavela?
I. He was the third king of the Chedi dynasty.
IL. Jainism flourished under him.
Ans 1. BothIandII
X2 OnlyTT
X3 OnlyI
X 4. Neither I nor II
Question ID : 630680442715
Option 1 ID : 6306801728298
Option 2 ID : 6306801728297
Option 3 ID : 6306801728296
Option 4 ID : 6306801728299
Status : Answered
Chosen Option : 1
Q.26 According to the regulations of the Indus Water Treaty (1960), India can use percent of the total water carried
by the Indus river system.
Ans X 1. 30
K2 35
v3 20
X4 25
Question ID : 630680442723
Option 1 ID : 6306801728330
Option 2 ID : 6306801728331
Option 3 ID : 6306801728328
Option 4 ID : 6306801728329
Status : Not Answered
Chosen Option : --




Q.27 Which of the following constitutional amendments made the provisions relating to urban local government?

Ans 1. 74th Amendment
X 2. 73rd Amendment
X 3. 75th Amendment
X 4. 72nd Amendment

Question ID : 630680442719
Option 1 ID : 6306801728314
Option 2 ID : 6306801728313
Option 3 ID : 6306801728315
Option 4 ID : 6306801728312
Status : Answered
Chosen Option : 1
Q28 The Northern Plain of India is about
Ans 1. 2400
X 2. 2800
< 3. 3200
X 4. 1800
Question ID : 630680442722
Option 1 ID : 6306801728325
Option 2 ID : 6306801728326
Option 3 ID : 6306801728327
Option 4 ID : 6306801728324
Status : Not Answered
Chosen Option : --
Q.29 Which of the following peaks of the Himalayas has height less than 8000 metres?
Ans X 1. Makalu
X 2. Dhaulagiri
+ 3. Nanda Devi
X 4. Nanga Parbat
Question ID : 630680442724
Option 1 ID : 6306801728332
Option 2 ID : 6306801728333
Option 3 ID : 6306801728335
Option 4 ID : 6306801728334
Status : Not Answered

Chosen Option :




Q.30 Which of the following statements is correct in the context of local governments in independent India?

L. The community development programme was initiated in 1952.
II. Gujarat and Maharashtra adopted the system of elected local bodies around 1960.
X 1. OnlyI

& 2. Neither I nor II

X3 OnlyII

4 BothIandII

Ans

Question ID : 630680442720
Option 11D : 6306801728316
Option 2 ID : 6306801728319
Option 3 ID : 6306801728317
Option 4 ID : 6306801728318
Status : Not Answered
Chosen Option : ==
Q.31 Part IV A of the Indian Constitution is related with which of the following?
Ans X 1. The Union and its Territory
+ 2. Fundamental Duties
X 3. Fundamental Right
X 4. Directive Principles of State Policy
Question ID : 630680442717
Option 1 ID : 6306801728307
Option 2 ID : 6306801728305
Option 3 ID : 6306801728304
Option 4 ID : 6306801728306
Status : Answered
Chosen Option : 2
Q.32 Which of the following statements is correct regarding the Ghumsur Rebellion?
I. The Ghumsur Rebellion broke out in 1852,
II. The Ghumsur Rebellion broke out under the leadership of Kamal Lochan Dora Bisoyee.
Ans X 1. Only T
X 2. BothTandII
X 3. Neither I nor II
¢4 OnlyII
Question ID : 630680442716
Option 1 ID : 6306801728300
Option 2 ID : 6306801728302
Option 3 ID : 6306801728303
Option 4 ID : 6306801728301
Status : Answered
Chosen Option : 2




Q33 The outer-most range of the Himalayas is called the
Ans X 1. Himadri

« 2. Shiwaliks

X 3. Purvachal

X 4. Himachal

Question ID : 630680442721
Option 1 ID : 6306801728320
Option 2 ID : 6306801728322
Option 3 ID : 6306801728323
Option 4 ID : 6306801728321
Status : Answered
Chosen Option : 1

Q34 The Indian National Congress was established in

Ans X 1. 1882
X2 1892
X 3. 1895
« 4. 1885

Question ID : 630680442714
Option 1 ID : 6306801728292
Option 2 ID : 6306801728294
Option 3 ID : 6306801728295
Option 4 ID : 6306801728293
Status : Answered
Chosen Option : 4

Q35 Who was the author of the book ‘Poverty and Un-British Rule in India™?
Ans X 1. Rabindranath Tagore

« 2. Dadabhai Naoroji

X 3. Gopal Krishna Gokhale

X 4 Mahadev Govind Ranade

Question ID : 630680442713
Option 1 ID : 6306801728290
Option 2 ID : 6306801728291
Option 3 ID : 6306801728288
Option 4 ID : 6306801728289
Status : Answered
Chosen Option : 2




Q.36 Which Article of the Indian Constitution is related to rights of citizenship of certain persons of Indian origin residing

outside India?

Ans X 1. Article 4

X 2. Article 16
« 3. Article 8
X 4 Article 12
Question ID : 630680442718
Option 1 ID : 6306801728308
Option 2 ID : 6306801728311
Option 3 ID : 6306801728309
Option 4 ID : 6306801728310
Status : Not Answered
Chosen Option : --
Section : Part Il Pedagogy
Q1 Figa SSRIIGI §EPRE 6281 - 9g] 694 FNITIS ANY?
Ans X' 1.4l1Q
X 2. 991901
o 3. 994l
X 4.92°R19
Question ID : 630680442727
Option 1 ID : 6306801728347
Option 2 ID : 6306801728345
Option 3 ID : 6306801728344
Option 4 ID : 6306801728346
Status : Not Answered
Chosen Option : --
Q.2 QIYIQ S1L4 A°a66Q FI&IS] 66 ISR 490D ?
Ans X' 1. 2e2196
X 2. AE85Ye
o 3. UIRde
X 4. AT
Question ID : 630680442728
Option 1 ID : 6306801728350
Option 2 ID : 6306801728348
Option 3 ID : 6306801728349
Option 4 ID : 6306801728351
Status : Answered

Chosen Option

1




Q3 6996 2GS TS FNLISR AYY §6E?
Ans X 159090 RIGQ aql8

X 2. QIR [YLLIR

o 3. 985109 6914% Q1SS

X 4.591929 Sal4l

Question ID : 630680442725
Option 1 ID : 6306801728336
Option 2 ID : 6306801728338
Option 3 ID : 6306801728339
Option 4 ID : 6306801728337
Status : Answered
Chosen Option : 4
Q4 6LQ% QNN IR QUVI?
Ans X' 1. gQUél
X 2.919Y
o 3. QUIRél
&K 4.9
Question ID : 630680442729
Option 1 ID : 6306801728353
Option 2 ID : 6306801728354
Option 3 ID : 6306801728352
Option 4 ID : 6306801728355
Status : Answered
Chosen Option : 3
Q5 QUIeRE JNSINIR 696915 A58 2demeae aaldixdg?
Ans X 1.6
X 2.5
o 3.4
K 4.3
Question ID : 630680442732
Option 1 ID : 6306801728367
Option 2 ID : 6306801728366
Option 3 ID : 6306801728364
Option 4 ID : 6306801728365
Status : Not Answered
Chosen Option : --
Q6 8%, ARFIQ, QARICTR, UL g6LUG 699 QTGS FNNGIQ ARIFACH 6TINAN?
Ans X 1.9eR
o 2. Q50!
X 3. a9
X 4.99
Question ID : 630680442726
Option 1 ID : 6306801728343
Option 2 ID : 6306801728342
Option 3 ID : 6306801728341
Option 4 ID : 6306801728340
Status : Answered
Chosen Option : 3




Q7 695 909 9Ig?

Ans X 1. 2@4IQ
o 2. 21N
X 3. g91e
X 4. ag191e
Question ID : 630680442730
Option 1 ID : 6306801728359
Option 2 ID : 6306801728356
Option 3 ID : 6306801728358
Option 4 ID : 6306801728357
Status : Answered
Chosen Option : 2
Q8 6RQF YRFEID TRINQ gELR?
Ans X' 1. 29094 QQQl
& 2. QRAI9GI QU6Q 29680 ARSI
X 3.2g91e /8l
X 4.299948 231!
Question ID : 630680442731
Option 1 ID : 6306801728361
Option 2 ID : 6306801728363
Option 3 ID : 6306801728360
Option 4 ID : 6306801728362
Status : Answered
Chosen Option : 2
Q9 Ppre-writing involves which of the following areas of concern?
I. Who am I writing for?
1. What is the purpose of this piece of writing?
Ans X1 Only I
+ 2. BothIandII
X 3. Neither I nor IT
X4 OnlyII
Question ID : 630680442737
Option 1 ID : 6306801728384
Option 2 ID : 6306801728386
Option 3 ID : 6306801728387
Option 4 ID : 6306801728385
Status : Answered
Chosen Option : 4




Q.10 Who among the following said “English is a language of international comumerce. it is the language of diplomacy and it

Ans

contains many a rich literary treasure™?

« 1. Mahatma Gandhi

X 2. Shakespeare

& 3. Jawaharlal Nehru
X 4. Rabindranath Tagore

Question ID : 630680442733

Option 1 ID : 6306801728368
Option 2 ID : 6306801728371
Option 3 ID : 6306801728369
Option 4 ID : 6306801728370
Status : Not Answered
Chosen Option : ==
Q.11 Which of the following is the correct characteristics of teaching reading
comprehension?
I. Make students work out things for themselves.
1. While teaching reading comprehension, don’t focus on teaching pronunciation or
grammar.
Ans X 1. Neither I nor II
X2 OnlyI
« 3 BothTandII
X 4 OnlyII
Question ID : 630680442736
Option 1 ID : 6306801728383
Option 2 ID : 6306801728380
Option 3 ID : 6306801728382
Option 4 ID : 6306801728381
Status : Answered
Chosen Option : 2
Q.12 A parration of the social and cultural experiences from one individual to another is called
Ans X 1. Diction
« 2. Story telling
X 3. Creative writing
X 4. Role play
Question ID : 630680442735
Option 1 ID : 6306801728379
Option 2 ID : 6306801728378
Option 3 ID : 6306801728376
Option 4 ID : 6306801728377
Status : Answered
Chosen Option : 4




Q.13 Grading of the language involves grouping and sequence. Grouping concerns
I. the system of language
II. structures of language

Ans X 1. Neither I nor II
X 2 Only I
« 3 BothIandII
X4 OnlyI
Question ID : 630680442739
Option 1 ID : 6306801728395
Option 2 ID : 6306801728393
Option 3 ID : 6306801728394
Option 4 ID : 6306801728392
Status : Answered
Chosen Option : 2
Q.14 The given prose sentence depicts of prose.
‘Love suffreth all things, believeth all things, endureth all things’.
Ans X 1. Epigrammatic sentence style
« 2. Bibliecal style
X 3. Complex sentence style
X 4. Humourous style
Question ID : 630680442738
Option 1 ID : 6306801728388
Option 2 ID : 6306801728389
Option 3 ID : 6306801728391
Option 4 ID : 6306801728390
Status : Not Answered
Chosen Option : --
Q.15 Which of the following pest-listening activities can be organised in the class?
I. Students can hold a discussion in small groups on any one aspect of the listening text
II. Students can be involved in retelling the gist of the text or story to the class
Ans X 1. OnlyI
« 2. BothIand II
X 3. Neither I nor II
X4 OnlyII
Question ID : 630680442740
Option 1 ID : 6306801728396
Option 2 ID : 6306801728398
Option 3 ID : 6306801728399
Option 4 ID : 6306801728397
Status : Answered
Chosen Option : 2




Q.16 The National Curriculum Framework — 2005 proposes various objectives for language teaching-learning for high

school. One of them is the competence to understand what she

Ans X 1. writes
« 2. hears
X 3. proposes
X 4 feels
Question ID : 630680442734
Option 1 ID : 6306801728374
Option 2 ID : 6306801728373
Option 3 ID : 6306801728372
Option 4 ID : 6306801728375
Status : Answered
Chosen Option : 2
Q.17 Which of the following statements is correct regarding the evolution of social sciences?
1. Social sciences originated in the eighteenth century.
II. The evelution and growth of social sciences are the byproduct of modernization, industrialization, renaissance,
urbanization, growth of science and related developments.
Ans X 1. Only I
& 2. Neither I nor II
X3 OnlyII
4 BothIandII
Question ID : 630680442742
Option 1 ID : 6306801728404
Option 2 ID : 6306801728407
Option 3 ID : 6306801728405
Option 4 ID : 6306801728406
Status : Answered
Chosen Option : 4
Q.18 Formulation of hypotheses is associated with which of the following teaching-learning methods to teach social sciences
at secondary level?
Ans X 1. Panel Discussion
X 2. Concept mapping
X 3. Scrapbook
« 4. Problem Solving
Question ID : 630680442744
Option 1 ID : 6306801728415
Option 2 ID : 6306801728412
Option 3 ID : 6306801728413
Option 4 ID : 6306801728414
Status : Answered
Chosen Option : 2




Q.19 Which of the following is a specific objective of teaching social sciences with respect to the theme ‘Making a Living’?

Ans X 1.
Gain a sense of who performs what role within the local administration.
X 2. Understand how prejudice can lead to discrimination.
X 3. Recognise the need for universal adult franchise.
Y
Understand conditions that underline and impact life strategies of various groups of people.
Question ID : 630680442741
Option 1 ID : 6306801728401
Option 2 ID : 6306801728402
Option 3 ID : 6306801728403
Option 4 ID : 6306801728400
Status : Answered
Chosen Option : 2
Q.20 Which of the following statements is correct regarding self-assessment?
L It is an effective technique of assessment for helping the learners to enhance their learning.
IL. It helps learners to get an idea about their strong and weak points and the areas where there is the need for
improvement.
Ans X 1. Only II
X2 OnlyI
« 3. BothIand II
X 4. Neither I nor II
Question ID : 630680442748
Option 1 ID : 6306801728429
Option 2 ID : 6306801728428
Option 3 ID : 6306801728430
Option 4 ID : 6306801728431
Status : Answered
Chosen Option : 3
Q.21 In which of the following methods of teaching social science, the participating students could be divided into two
groups, one for the proposition and the other against it?
Ans X 1. Brainstorming
X 2. discussion
« 3. Debate
X 4. Symposium
Question ID : 630680442743
Option 1 ID : 6306801728408
Option 2 ID : 6306801728411
Option 3 ID : 6306801728409
Option 4 ID : 6306801728410
Status : Answered
Chosen Option : 2




Q.22 Which of the following statements is correct regarding Project Method when it comes to teaching-learning social
science?
1. It requires the participation of both teacher and students.
IL. It is an activity-based method which is carried out in a natural setting.

Ans X 1. Only T
X 2. Neither I nor II
X3 Only I
« 4 BothIandII
Question ID : 630680442745
Option 1 ID : 6306801728416
Option 2 ID : 6306801728419
Option 3 ID : 6306801728417
Option 4 ID : 6306801728418
Status : Answered
Chosen Option : 4
Q.23 evaluation is conducted to know the terminal behaviour of learners.
Ans X 1. Diagnostic
+ 2. Summative
X 3. Formative
X 4. Placement
Question ID : 630680442746
Option 1 ID : 6306801728420
Option 2 ID : 6306801728423
Option 3 ID : 6306801728421
Option 4 ID : 6306801728422
Status : Answered
Chosen Option : 2
Q.24 For the first time in the year 1967, used the coneept of formative evaluation in the field of curriculom
evaluation.
Ans 1. Michael Scriven
X 2. Daniel Stufflebeam
X 3. Lee Cronbach
X 4. Elliot Eisner
Question ID : 630680442747
Option 1 ID : 6306801728425
Option 2 ID : 6306801728424
Option 3 ID : 6306801728426
Option 4 ID : 6306801728427
Status : Not Answered
Chosen Option : ==




